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How much work is required to move
a single electron through a potential
difference of 100 volts?
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A constant force of 1900 newtons is required
to keep an automobile having a mass of 1.0 x
10% kilograms moving at a constant speed of
20,meters"per second. The work done in

mevingtie 2ulomobile a distance of 2.0 x 103
metersis

A S aad
B x 10%J
C 24 x 106J
0\ 318,21 084

What is the maximum height to which a
1200-watt motor could lift an object
weighing 200 newtons in 4.0 seconds?

A spring of negligible mass has a spring
constant of 50 newtons per meter. If the
spring is stretched 0.40 meter from its
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equilibrium position, how much potential

\
horizontal track. As the block slides, there
could be an increase in its

A _gravitational potential energy, only
B _intersalenzrgy onty

-

C| gravitaiiomatgatentialanergy and king
)] irgy angl kingtic energy
Thew gin decel@ratingf an abjeet

along a frictionless/horizontal surface is
equal to the*change in the object’s

A momentum

B velocity

C potential energy
D kinetic energy

15 newtons through a distance of 0.50
meter. How much elastic potential energy
is stored in the car’s spring during this

preCess?
Al1.9. ¢ 30J
B|7.54 b/ ‘
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As shawn'ig the diagrem béigw, a ehid
applies a constant 20-newton force
along the handle of a wagon which
makes a 25° angle with the horizontal.

How much work does the child do
in moving the wagon a horizontal
distance of 4.0 meters?
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How much work is required to move A constant force of 1900 newtons is required
to keep an automobile having a mass of 1.0 x
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g constant of 50 newtons per meter. If the

1200-watt motor could lift an object

weighing 200 newtons in 4.0 seconds? spring is stretched 0.40 meter from its

equilibrium position, how much potential
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horizontal track. As the block slides, there 15 newtons through a distance of 0.50

could be an increase in its meter. How much elastic potential energy

o ) is stored in the car’s spring during this

A_gravitational potential energy, only proTEEE?
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along the handle of a wagon which
makes a 25° angle with the horizontal.

A momentum @ How much work does the child do

: in moving the wagon a horizontal
o velocny distance of 4.0 meters?
C potential energy

D kinetic energy A 50J C 73) mammmms

equal to the*change in the object’s
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